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1. Answer the following questions as directed :
o SepTic Noa AerE Ted we. 3
(a) Write True or False:
T A w8
If () ANB=¢, then (OTF) ANg=B
| 2 1 -1
(b) . 1f @) A=(1 o 3)
Find (Rfa @) s (8)
(c) Using the property of determinant, find
Feftace of et s By @ —
2 4 3
2 4 3|=7°
-5 1 2
(d) Find the value of r:
r-ag T B I e
1p -110
(e) What is the value of O!?
0! -« I T©°?
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1x8=8

() Fill in the blank:

T 3 T 8

The sum of the deviations of the variables from their arithmetic
mean is

veRafeiR e (AT Rpfer @ = |

(g) Write down the relationship between mean, median and mode.

TG, TG 8 ITHT MR TE FU?

(h) Fill in the blank:
XU o9 I 8

For all equal value of observations, standard deviation is

FRRHCR I AN MR &Y, e Rpfe = |

2. Answer the following questions in brief: 2x5=10

FCHA A 2Pl Teg we o

(@) In how many years will a sum be double of itself at 10% p.a.
simple interest ?

IS IZF 90! AR A 10% TR g Rad =12
(b) If @) "c\q ="c, then find the value of "Cy-
OITHA "¢, ~9R WA [ I
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()

(@)

(e)

For what value of x in A:[ 5 x) will be singular ?
-2 4

DX
A=(_2 4]41 X9 ! N G G CIETF 22

Find the product AB of the two matrices

A=(1 2 3 4), B=(1

AW N

7% Giee® A=(1 2 3 4)g¢ B-(]

2
3
4

% 2R AB el S|

If (I) Q=142 and (€) Q,-Q, =18.
Find median (g W @1 |

Distribution is symmetrical (I3 G |

3. A sum of money is putout at C.I. for 2 years at 20% p.a. It would

earn ¥ 482 more if the interest were payable half-yearly than it

were payable yearly. Find the sum.

3

2 TR G ET 20% A SR I G AR o2 1 2w | 7 o A
Aoy A GE TERFFSIE ARCN 1 27, oraee 482 51! ST Tolien
[ | it sed A [efs Tt
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1
6. The matrix A is given by A=( 3

4. Draw the graph of: (any one)

@R O IR 8 (TR GlB)
i) x+y=21, x+2y<10, x,y=0

(i) x+4y<12, 2x+5y<20, x,y=0

the value of k.

: k\°
If the coefficient of x® in the expansion of (x2+;) be 160, find

3

6
(x2+%) -7 TR T <@ T 160 W, OIS k 7 i Refg @t |

g] , prove that

2 ik 3 8
A°+3A+51 =
-12 -1

where I is an unit matrix.

12

e S, ceww a=(_ o) e

3118
A%+3A+5I= )
10 1

@A I G0 G G |
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For two va.lues‘of x, the mean and standard deviation are 10 and
2 respectively, what are the values of x ?, 3

X~ YL NE &0, T4 8 T [Hfe (ea Sitg IWF 10 8 2 | x-F T
uio S e

A sum of money amounts to Rs. 8,820 after 2 years and 9,261
after 3 years at a certain rate of C.I. Find the sum and the rate of
interest. S

G AR L #ARA 2 T S TAR 8,820 TR oiF v A G0
1S o 3 I 79 = 9,261 Bt | YR A @oiwe @ J [T el |

A man decides to deposit ¥ 7,000 half-yearly in a bank which pays
4% C.I. payable half-yearly. Find the total accumulation at the end
of 6 years, assuming that the investments are made at the end of

each half year. Given, log102 =2-:0086, log126904 = 51032024 .
5

¥ e SEIRFFSIE 7,000 T FiF N I TS @ 1 s =1ReiE
ARG 4% b 7 =Koy = | &S Sd==mm i Rivas =1 = 3
4 a1 6 TE o @b «fee S AR &9 R

(crsT =R log102 =2:0086, log126904 =5-1032024)
Or / 9

A company borrows ¥ 1,00,000 on the condition to repay it with

C.I. at 5% p.a. by annual instalments of ¥ 10,000 each. In how
many years will the debt be paid off ? 5

0! (A =16 SEPAE 1,00,000 B 49 R A @61 5% vaf e
o AR 0 I 3R 2AfSlb 31 i «ifd 2 10,000 Hit | 378 2=
(oerE 3 4 “IFTiY F0e ARE?
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10. Prove that (&9 F& @) ¢ 5

1 1 1 1 n
+ + et =
1-2 2.3 3-4 nn+l) n+1

11. There are 4 questions in group A, 4 in group B and 2 in group C.
In how many ways can you select S questions taking 2 from A,
2 from B and 1 from C? 5

W&l A-CS 4 O, ¥ B-(O 4 518 we C-(® 2 b o g e o v A (AT
2 B, 7 B (A 2 B8 Ve C (A 15 & [{ew 5T o g v @ e

12. Examine whether or not there is any term containing ,!! in the

1 |18
: S
expansion of [X 2x) 5

18
(f-ij TSSO 11 AP @ A% =iz & T =190 <&@ |

2x

13. Prove that (2 S ) 3 5

1 40 1%
a b cl|=(a-b)(b-c)(c-a)a+b+c)
3

a® b3
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14. Solve by using Cramer’s rule: S 16. From the following data calculate standard deviation and quartile
deviation : 4+4=8
G T G I LA FEA 8

Rrate oy (A TNe Rpfe ¢ vedied Rpfe A s ¢

x+2y-z=-3 Wages (Rs):|0-10 | 10-20 | 20-30 | 30-40| 40-50| 50-60 | 60-70 {70-80

Y izt Workers :| 20 | 45 | 85 | 160 [ 70 | 55 | 35 | 30

xX-y+2z=6

e Or / 92t

What do you mean by dispersion ? What purpose does a measure

Oor / 94t
of dispersion serve? Write merits and demerits of measures of
dispersion. 2+2+4=8
If (3fw) A—2B=(_7 7) and (8) 5 '
afu-d A Rz <eTre I @Rt e RERER smewoiefe Ft Tt o7 w e Remem eded
8 (MiFefe TrEy FE|
A—SB=[_1i 12)
17. (a) Calculate Karl-Pearson’s correlation coefficient. S
Find the matrices A and B. Fle-PRITER 2w 8% R F@
A € B Gle% 4o @ @ Xhai 1 2 3 4 5
Uy 6 8 15 9 12
15. Compute mean, median and mode of the following distribution :
2+3+3=8 or / o<1
oA B (AP NG, VYA @ =T (e el 3 If @) f(x)=x-8x+2, find (R @) f(A) if @) 5
Marks : | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
g1y 2
No. of A= 01 4
Students : S 8 12 16 10 8 24, e
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(b) Define correlation. Distinguish between positive and negative

18. (a)

correlation. 3
HZIIER TR TR | G € e HESTHeEa AL [l 3@t |
An urn contains 8 white and 3 red balls. If two balls are
drawn at random, find the probability that ‘ 5
(i) both are white

(i) both are red

(iiij) one of each colour

G G 8 Bl WM 8 3¢5 Fie Je7 Wiz W o1 I Ao Ot il
o, OIFE AYRIS! (@@ IR |

() 7o S e
(i) 7! = 2@
(iii) =fel TR 6t T
or / §41

In a class of 52 students, 20 students play football and 16
students play hockey. It is found that 10 students play both
the games. Find the no. of students who play neither. 5

52 o FrEdE @fice 20 T PRI $o9e A O 16 o Rt o
(AT | G ST 10 S RSt 7ot (A (ATe | G Cel Ai-ce il
RN FO?
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(b) If A and B are two events with P(A+B)=%, P(A)=

P (AB)==, then find

23
P
) P(A)
(i) P(B) and P (AB).

M A @ B B! <o W @A

P(a+B)=2, P(@)=3 o

P (4B)= o i <0

() P (A)
) P(B) <} p(aB)
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